RUPARELIA FOUNDATION

PAYMENT VOUCHER NO. 254

PAYMENT NO	254			Date:	22-Sep-2015			
PAY M/S	Uwezo Impressions Ltd							
CHQ. NO.	258	DATED	92/9/15 AMOUNT	UGX.2,000,000	 D /- 			
(IN WORDS)	UGX Two million only							
BEING	contribution made for Conference " to be he			ls Youth Netw	rork			
DDED A DEIX		AUTHONOUS						
PREPARED BY A		AUTHORISED BY	^~	SANCTIONED	M			
N	ı		C					
RECEIVER'S SIGNATURE								
Edward weet i'd Walngerho.								
Engender Zorgers South Holmore.								
5	29/29/2015							
	7020341	7-4						
0700999980.								



file Copy.

BUGANDA ROYALS NETWORK COUNCIL

P.O Box 7451, Tel: +256702034174, +256772592862

http://bugandaroyalfamily.wordpress.com

Wednesday, August 26, 2015

Mrs. Jyotsna Ruparelia

Co Founder

Ruperalia Foundation

Row Wood of Conddon

Dear mum,

RE: BUGANDA ROYALS YOUTH NETWORK CONFERENCE, OCTOBER 14, 2015

I greet you in the name of Jesus. Thank you for the work you have delivered to this nation over the years especially in our own Buganda Kingdom where your family has donated charities and established schools to boost the education sector.

We are also aware of your ties with the Buganda Royal Family. We know you're very compassionate about the well being of the Youth in Uganda, and for that reason we are asking you for one of the biggest favors mum.

There has been born a desire for the Buganda Royal Youth to advance ourselves without waiting for "handouts" as it has always been the norm. We are determined to move all the youth of Uganda in a very positive direction.

We are planning our second Conference on October 14, 2015 at Hotel Africana, Kagera Hall starting 1pm-5pm and we would like you to BLESS US with a key note speech on "SMALL BUSINESS ELEVATION" that will guide us on planning for better and bigger investments.

With your permission, we would also be so much honored to host your own Meera and Rajiv at the Conference as their age is very pertinent with our cause.

070203417# - Edward.

4 100 12015

BUGANDA ROYALS YOUTH NETWORK CONFERENCE, OCTOBER 14, 2015

ITEM	QTY	UN	IIT PX	AMOUNT
VENUE		1	1,500,000	1,500,000
PRESS/MEDIA		10	300,000	3,000,000
MEALS	700 PPLE		40,000	28,000,000
PUBLIC ADDRESS		1	5,000,000	5,000,000
DELEGATES FACILITATION (From outside the region)		700	100,000	70,000,000
FUEL		10	500,000	5,000,000
COORDINATION		10	200,000	2,000,000
CERTIFICATES		1	5,000,000	5,000,000
STATIONERY		1	3,000,000	3,000,000
THEME BANNER		1	500,000	500,000
PROJECTOR	10 MUSICIAN	S	1,000,000	10,000,000
ENTERTAINMENT				133,000,000



BUGANDA ROYALS NÉTWORK COUNCIL

P.O Box 7451, Tel: +256702034174, +256772592862 http://bugandaroyalfamily.wordpress.com

Tuesday, September 22, 2015

Jyotsna Ruparelia

Co-Founder

Ruparelia Group

Dear mum.

RE: Appreciation for the pledge of Ugx 2,000,000

I hope this letter finds you hale and hearty.

On behalf of the Royal f<mark>amily of Buganda, I thank you very dearly for your contribution towards our Conference that will be held on **Wednesday**, **October 14**, **2015 at Hotel Africana**, **Kagera Hall**.</mark>

I also learned that you will not be able to give the Youth a keynote speech as you were already obliged for other engagements. I hope we will be lucky to have you with us next year.

We will receive the pledge by cheque through UWEZO IMPRESSIONS LTD (Centenary Bank).

Thank you for your kind heart.

Yours faithfully,

Edward Fredrick Walugembe

Secretary General

Edward2fredrick@yahoo.com /edward2fredrick@gmail.com

P. O. Box 22572 Plot No. 38, Kampala Road,

Kampala, Uganda.

KAMPALA BRANCHNOT EXCEEDING USH 2000,000

170147

000258

11

1020001300

DATE 22-Sep-2015

Pay

Uwezo Impressions Ltd

Uganda Shillings Two Million Only

or order

UG\2,000,000 2

A COUNTY SELECTION OF SELECTION RUPARELIA FOUNDATION

1002/0110200/01300 06/06/15

Authorised Signature

Authorised Signature

1000025810 OB. 1701476 102000130010

edvick plangerto.

REPUBLIC OF UGANDA

COUNTRY / PAYS

EDWARD FREDRICK WALUGEMBE

UGANDAN

04 07 1989

PROFESSION / PROFESSION BUSINESS

SEX.8EXE NACE OF BITH / LIEU DE NAISSANCE N SAMBYA

DATE OF ISSUE / DATE DE DEL WANNE

0.5 08 2011

UGA G 05 08 2021

AUTHORITY / AUTORITE
UGA GOVT KAMPALA
HOLDERS SIGNATURE J SIGNATURE DU TITULAI

PCUGAWALUGEMBE<<EDWARD<FREDRICK<<<<<<<< B0886279<7UGA8907046M210805800355422<<<<<70

PASSPORT / PASSEPORT